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B2 SRCOND REVISION EXAMINATION 2025

10 o ' Nansnnny |
‘f’,“me 3.00 hrs, _ SOCIAL SC SN 3t Marks 100"' et
I ) Answerallthequestmn. ~ | Bk i B \ ey 14X = 14.'. .

- 1) Choose the most appropriate answer from the. given four alternatlves and witerthe optlon
- code'and the correspondmg answer.; '

1. .:V)hézr::;: Ofthe worlch:tsllked dollarlmoe‘nallsmT’ e RN : .' 3 .c:?/ﬁ.l?
in‘America A c) India d) China - 25,7,
2. Who initiated the formation of Lea ue of N | ' Lt
a) Roosevelt | b) Ch N ctief’ &o%&%zo“'r?"“
S e amberlam c)’Vvoodrow WIISOI‘I d) Baldwnn LRy
e first forest act enacted? - . ., B r“)"‘;}ﬁ?‘ & S
a) 1858 . 3 b)1911 | 9/1865 5 d) 1936 9. %O_O,\’-\fv((, o
4. RLLITTIToe. ««i. €stablished a full - fledged prlntlng press in 1709, at Tranquebar ' T
.a) CaldWelI . b) FW, Ell|s ; /e72|egenbalg : d) Meenakshlsundaram 3
B et Rlver is known as “Sorrow of Bihar. Tage '
- @) Narmada .b) Godavari ' Kosi % d) Damodar
<6, Assertion (A): Tamll Nadu does not rece|ve much ralnfall from southwest monsoon.
i ' Reason (R) : It is situated in the rain shadow area of the western ghats.
F 3§ both (A) and (R) are true and (R) explams (A)
; 3 , b) Both (A) and (R) are true but, (R) does not explain (A) .
: | <) (A) is true but, (R) is false _ d)(R) is true but (A) is false
7. The most abundant source of energy is ... T e
: a) Biomass (b’)/Sun TP ~ ¢) Coal JA R ‘d)‘ oil
’ 8. Mangroves protects .............iio..... " o '
- ‘a) Coastal area from erosion b) Coral reefs. c) Sea grass meadows d’)/All these
i 9. Under which article financial emergency can be proclaimed?
a) Article 352 b) Article 356 . _c)Article 360 . d) Artvicle 368
10. 'Tick the appropriate answer - : o _
rTnhoenga(l)afdtzra:n;;aor:Eort prOJect by Ind;a‘ and‘Myanmar consists of whlch of the followmg
é i) Roads ii) Railways iii) Shlppmg IV) Inland water transport
| a) i,ii and iii only ,bmu and iv on\y . c) ii, iii and iv only . d)i, i, iiiand iv
| 11. Who acts as the chancellor of universities in the state.
g' a) President /b/Governor v 1 c) Prime Minister d) Chief Minister
| 12, valueoftsg%rgslcgézctjhe value added by each |ntermedlate good is summed to estimate the
a) Expenditure approach b) Value added approach
c) Income approach d) National Income
\"\, 13.  Who is the head of the World Trade Organisation (WTO)
a) Ministerial conference bYDirector General
 ¢) Deputy Director General | d) None of these ‘
14. A successful Industrial cluster entirely created by the Tamil Nadu s ............ :
ayFiosur b) Dindigul c) Kovilpatti d) Tirunelveli®
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; PART=LL vz vl
Question No. 28 Is compulsory. .

LR
&
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- %

erany 10 questions

How did'great depression Impact on‘theIndlan agricdlture?
~ What was Matshall Plan? ' o PR U e Yy
What were the duties of a palayakkarars? . = * ) 619 1y,
. Describe the Jalllanwala Bagh Massacre. Wk 4_61/%94' K2
. Name the seasons of agriculture in India? SR e 2 NG
~ Write a note on pipeline network transport in India? BN //1/ %N Y
Mention the role of Mangroves in coastal zone management. OO ) O,\ D 9

What are the classical languages In India? . B .7 ) %, o
What do you understand by the “Appellate qulsdlctlon" of the High Court? ‘9\5\ 0,4 ‘O
List out the member contries of SAARC. ™ - 5

What are the reforms made to adopt globalization? :

What are the effects of Green Revolution?

What is proportionate tax? -
Write a note on the “Terrace Farming

n
.

' ~° PART-III . : '
Note : Answer any 10 questions. Question No. 42 is compulsory. 10 X5 =50
Fillin the blanks. : e ty R ‘ ' '
1) «.ceeeenenn.. is the guardian of the constitution.

2) Locamo Treaty was signed in the year ............. .

3) The term globalization inventied by. ...... St

4) The constitution of India was adopted oON ....eeiieeniin :

'5) Sathanur dam is constructed across the river ........... oo

Highlight the provisions of the Treaty of Vefsailesé relating to Germany.

Estimate the role of Mao Tse Tung in making China a communist country. :

Discuss the reasons behind the partition of India.

State any five types of soil in India and explain the characteris
a) Distinguish between. ' N

i) The Western Coastal Plains and the Eastern Coastal Plains. ii) Roadways and Railways.
b) Give reason : : '. '

Farmers switch over from inorganic to organic farming.

Bring out the mineral distribution in TamilNadu.

Explain the salient features of the constitution of India.

Describe the executive and judicial powers of the President of India.

Trace the reason for the formation of BRICS and write the objectives.

Briefly explain various terms associated with measuring of national income.

what are the important characteristics of successful industrial clusters?
Draw a timeline for the following. )

Write any five important events between 1920 to 1940.

Mark the following places on the map of India.

tics and distribution of soil.

i) Dandi i) Madras iil) Barackpore  iv) Meerut v) Jallian Wala Bagh.
‘ PART -1V
 Note : Answer the following questions. - 2X8 =16

a) What are the cause of failure 1857 revolt and bring out the conse : ;
Revolt of 1857. (OR) ’ PRI EE ol s arest
b) Give an account on the major Peninsular rivers of India.
Mark the following places on the given outline map of India.
1) River Ganga 2) Mt K2 3) Eastern ghats  4) North East mon
5) Gulf of Mannar  6) Mangrove forest  7) Mettur Dam  8) Tea growinsgog?ngl;cocgon
b) Mark the following places on the given outline map of Tamil Nadu. : )
y Coromandel coast  2) Palk strait 3) Chennal 4) Nilgiris  5) Paddy growing area

- 8) yvedaranyam 7) Vedanthangal Bird Sanctuary 8) Agasthiyamalal
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